	BID RESULTS					
CK09MERCER2021-08 HVAC PM AND REPAIL	R FOR THE MERCER COUNTY LIBRARY SYSTEM AND CO	OPERATIVE CONTRACT PURCHASING SYSTEM				
	BID OPENING DATE: JUNE 22,2021					
NUMBER OF BIDDERS	2					
NAME OF BIDDER	MULTI-TEMP MECHANICAL INC.	MCCLOSKEY MECHANICAL, INC.				
ADDRESS	1000 DELSEA DRIVE, SUITE B1	445 LOWER LANDING ROAD				
CITY, STATE, ZIP	WESTVILLE, NJ 08093	BLACKWOOD, NJ 08012				
CONTACT	LAURA CUNEO	COLIN CAMPANO				
TELEPHONE	856- 384 -9900	856- 784- 5080				
FAX	856- 384 -9905	856- 784 -8283				
E-MAIL	LC@MULTITEMPMECH.COM	ROB@MCCLOSKEYMECHANICAL.COM				
INSURANCE AND INDEMNIFICATION EXTEND TO COOP	SIGNED AND DATED	SIGNED AND DATED YES				
NJ SAVI DESIGNATION	YES N/A	N/A				
THREE REFERENCES AND FIVE YEARS EXPERIENCE	INCLUDED LIBRARY TO REVIEW	INCLUDED LIBRARY TO REVIEW				
PW CONTRACTOR CERT	SIGNED AND DATED	SIGNED AND DATED				
PLUMBING SUB-CONTRACTOR	IN-HOUSE ; HVACR LICENSE 19HCC00793300 EXPIRES 6.30.22	IN-HOUSE; HVACR LICENSE 368100758200 EXPIRES 6.30.21				
ELECTRICAL SUB-CONTRACTOR	IN-HOUSE; LICENSE # 34EB00921800 EXPIRES 3.31.24	H.B FRAZER COMPANY;LICENSE #34EB01406200 EXPIRES 3.31.24;BRC OK;PW 677998 EXPIRES 5.15.23				
NEW JERSEY BUSINESS REGISTRATION	OK	OK				
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED				
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED				
PREVAILING WAGE REG.	666323 EXPIRES 9.21.21	616623 EXPIRES 2.23.22				
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED				
EXHIBIT B	REQUIRED IF AWARDED	REQUIRED IF AWARDED				
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED				
extend beyond 60 days	YES	YES				
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED				
FREON CERTIFICATION: UNIVERSAL	INCLUDED	INCLUDED				
	PROPOSAL FORM					
ALL -INCLUSIVE HOURLY RATE-8:30 AM TO 4:30 PM	\$ 80.00	\$ 86.00				
TOTAL (MULTIPLY 1000 X HOURLY RATE)	\$ 80,000.00	\$ 86,000.00				
EXCEPTIONS EXAMPLE AND ADDRESS OF THE PROPERTY	NONE	NONE				
FATAL FLAW	NO	NO				

	RFP RESULTS							
CC2021-08 LAKE AND POND MANAGEMENT FOR THE MERCER COUNTY PARK COMMISSION RFP OPENING DATE: JUNE 24,2021								
NAME OF RESPONDENT	PRINCETON HYDRO, LLC							
ADDRESS	1108 OLD YORK ROAD PO BOX 720							
CITY, STATE, ZIP	RINGOES, NJ 08551							
CONTACT	GEOFFREY M. GOLL							
TELEPHONE	908-237-5660 X103							
FAX	908-237-5666 GGOLL@PRINCETONHYDRO.COM							
E-MAIL NJ SAVI DESIGNATION	N/A							
ADDENDUM NO ONE	INCLUDED							
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED							
NON COLLUSION AFFIDAVIT	SIGNED AND DATED							
new Jersey business registration	OK							
STATEMENT OF OWNERSHIP	SIGNED AND DATED							
IRAN CERT	SIGNED AND DATED							
EXHIBIT A	REQUIRED IF AWARDED							
EIC	25555 EXPIRES 9.15.22							
EXTEND BEYOND 60 DAYS	YES							
QUALIFICATION STATEMENT	INCLUDED							
KEY PERSONNEL INFORMATION	INCLUDED							
CERTIFIED LABORATORY INFORMATION	INCLUDED							
REFERENCES	INCLUDED, EVALUATION COMMITTEE TO REVIEW							
PROPOSAL COST	\$ 534,650.00							
EXCEPTIONS	NONE/ SEE NOTE ON PROPOSAL FORM							
FATAL FLAW	NO							

	CC2021-08 PROPOSAL PAGE									
RES	LC									
Site Name	Task 1: Monito	Annual oring	Task 2 Mana	2: gement Plan	Total Cost Per Site					
Mercer Lake	\$	74,000.00	\$	30,500.00	\$	104,500.00				
Rosedale Lake	\$	70,400.00	\$	19,200.00	\$	89,600.00				
Curlis Lake	\$	69,400.00	\$	19,750.00	\$	89,150.00				
Willow Pond	\$	00.008,88	\$	17,050.00	\$	85,850.00				
Spring Lake	\$	69,400.00	\$	21,750.00	\$	91,150.00				
Miry Run/Dam Site 21	\$	64,000.00	\$	10,400.00	\$	74,400.00				
	\$	534,650.00								

BID RESULTS											
AB2021-13B REBID OF CONSTRUCT TAXIWAY D CONNECTOR PHASE TWO FOR TRENTON MERCER AIRPORT BID OPENING DATE: JUNE 24.2021											
NO. OF BIDDERS: 3											
			DIACO CONTRACTING INC. DBA								
NAME OF BIDDER	C.J. HESSE, INC.	EARLE ASPHALT COMPANY	GRADE CONSTRUCTION								
ADDRESS	25 FIRST AVENUE	PO BOX 556	110 PENNSYLVANIA AVENUE								
CITY, STATE, ZIP	ATLANTIC HIGHLANDS, NJ 07716	FARMINGDALE, NJ 07727	PATERSON, NJ 07503								
CONTACT	LAWRENCE C. HESSE	BRIAN M. COOPER	RALPH DIACO								
TELEPHONE	732 291 8100	732 308 1113	973 925 4021								
FAX	732 495 6225	732 308 1034	973 782 5958								
E-MAIL	LHESSE@CJHESSE.COM	BCOOPER@EARLECO.COM	RALPH@GRADECONSTRUCTION.NET								
nj savi designation	N/A	N/A	SMALL BUSINESS OWNED ENTERPRISE								
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED								
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
BID GUARANTEE	WESTPORT INSURANCE CORPORATION 10% NTE 20K	FEDERAL INSURANCE COMPANY 10% OF 20K	LIBERTY MUTUAL INSURANCE COMPANY 10%NTE 20K								
CONSENT OF SURETY	DAWN M. JONES AIF WITH POA	KATHRYN PRYOR AIF WITH POA	WILLIAM D. HAAS AIF WITH POA								
THREE REFERENCES	INCLUDED AIPORT/ENGINEERING FIRM TO REVIEW	INCLUDED AIPORT/ENGINEERING FIRM TO REVIEW	INCLUDED AIPORT/ENGINEERING FIRM TO REVIEW								
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
PW CONTRACTOR REGISTRATION	608194 EXPIRES 8.1.23	18315 EXPIRES 5.5.23	638293 EXPIRES 9.9.21								
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK								
ELECTRICAL SUBCONTRACTOR PW, BRC	GARY KUBIAK + SON ELECTRIC, INC. 51999 EXPIRES 5.2.2022; LICENSE # 34EB01163300 EXPIRES 3.31.2024; BRC OK ;SBE	GARY KUBIAK + SON ELECTRIC, INC. 51999 EXPIRES 5.2.2022; LICENSE # 34EB01163300 EXPIRES 3.31.2024; BRC OK	HBC COMPANY INC. 603513 EXPIRES 7.31.2021; LICENSE # 34EB01089000 EXPIRES 3.31.2024; BRC OK;SBE								
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED								
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED								
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
PREVAILING WAGE CERT	OK	OK	OK								
FEDERAL DEBARMENT CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED								
EQUIPMENT CERT	OK	OK	OK								
DBE STATEMENT	INCLUDED	INCLUDED	INCLUDED								
BUY AMERICAN CERT	INCLUDED	INCLUDED	INCLUDED								
HOLD PRICING BEYOND	YES	YES	NO								
60 DAYS BIDDERS LIST	INCLUDED	INCLUDED	INCLUDED								
COLLECTION FORM CONTRACTOR'S DBE	INCLUDED	INCLUDED	INCLUDED								
PLAN FORM											
LETTERS OF INTENT	INCLUDED	INCLUDED	INCLUDED								
BASE BID	\$ 978,660.90	\$ 1,283,213.13	\$ 2,315,053.17								
EXCEPTIONS	NONE	NONE	NONE								
FATAL FLAW	NO	NO	NO								

BASE BID

					CJ HESSE			EARLE A	ASPHALT	GRADE CONSTRUCTION		
Item No.	FAA Spec. No.	Description	Qty.	Unit	Unit	Price	Total	Unit Price	Total	Unit Price	Total	
1	C-102-5.1a	SEDIMENT FILTER LOG	430	LF	\$	12.00	\$ 5,160.00	\$ 10.00	\$ 4,300.00	\$ 13.00	\$ 5,590.00	
2	C-102-5.1b	STORM DRAIN INLET PROTECTION	5	EA	\$	270.00	\$ 1,350.00	\$ 425.00	\$ 2,125.00	\$ 121.21	\$ 606.05	
3	C-102-5.1c	STABILIZED CONSTRUCTION ENTRANCE	1	EA	\$	3,700.00	\$ 3,700.00	\$ 5,000.00	\$ 5,000.00	\$ 25,133.28	\$ 25,133.28	
4	C-105-5.1	MOBILIZATION (NOT TO EXCEED 5% TOTAL PROJECT COST)	1	LS	\$ 10	00,000,00	\$ 100,000.00	\$ 64,000.00	\$ 64,000.00	\$ 171,200.14	\$ 171,200.14	
5	P-101-5.1	PAVEMENT REMOVAL (FULL DEPTH)	3,600	SY	\$	20.00	\$ 72,000.00	\$ 17.50	\$ 63,000.00	\$ 48.03	\$ 172,908.00	
6	P-152-4.1	UNCLASSIFIED EXCAVATION	8,000	CY	\$	22.00	\$ 176,000.00	\$ 27.50	\$ 220,000.00	\$ 66.30	\$ 530,400.00	
7	P-152-4.2	COMMON EMBANKMENT	100	CY	\$	10.00	\$ 1,000.00	\$ 0.01	\$ 1.00	\$ 36.41	\$ 3,641.00	
8	P-152-4.3	NONHAZARDOUS PETROLEUM CONTAMINATED SOILS OFF-SITE SPOILING	100	CY	\$	100.00	\$ 10,000.00	\$ 200.00	\$ 20,000.00	\$ 72.12	\$ 7,212.00	
9	P-152-4.4	HAZARDOUS SOIL/MATERIAL OFF-SITE SPOILING	10	CY	\$	390.00	\$ 3,900.00	\$ 430.00	\$ 4,300.00	\$ 72.12	\$ 721.20	
10	P-620-5.1	RUNWAY AND TAXIWAY MARKING - WATERBORNE, TEMPORARY	860	SF	\$	5.00	\$ 4,300.00	\$ 4.90	\$ 4,214.00	\$ 4.80	\$ 4,128.00	
11	P-620-5.2	RUNWAY AND TAXIWAY MARKING - WATERBORNE, PERMANENT	8,700	SF	\$	1.70	\$ 14,790.00	\$ 3.15	\$ 27,405.00	\$ 1.58	\$ 13,746.00	
12	P-620-5.3	RUNWAY AND TAXIWAY MARKING - THERMOPLASTIC, PERMANENT	660	SF	\$	32.00	\$ 21,120.00	\$ 42.00	\$ 27,720.00	\$ 30.45	\$ 20,097.00	
13	P-620-5.4	RUNWAY AND TAXIWAY MARKING - REMOVAL	800	SF	\$	3.00	\$ 2,400.00	\$ 5.20	\$ 4,160.00	\$ 2.96	\$ 2,368.00	
14	D-701-5.1a	18 INCH RCP	610	LF	\$	80.00	\$ 48,800.00	\$ 135.00	\$ 82,350.00	\$ 110.70	\$ 67,527.00	
15	D-701-5.1b	PIPE DEMOLITION	850	LF	\$	15.00	\$ 12,750.00	\$ 22.50	\$ 19,125.00	\$ 58.39	\$ 49,631.50	
16	D-751-5.2	CATCH BASINS	2	EA	\$	5,000.00	\$ 10,000.00	\$ 5,000.00	\$ 10,000.00	\$ 3,918.73	\$ 7,837.46	
17	T-901-5.1	SEEDING	17,000	SY	\$	1.20	\$ 20,400.00	\$ 1.20	\$ 20,400.00	\$ 0.95	\$ 16,150.00	
18	T-905-5.1	TOPSOILING (ON-SITE EXCAVATED AND STOCKPILED)	2,275	CY	\$	30.00	\$ 68,250.00	\$ 9.00	\$ 20,475.00	\$ 20.71	\$ 47,115.25	
19	T-908-5.1	MULCHING	17,000	SY	\$	0.90	\$ 15,300.00	\$ 1.20	\$ 20,400.00	\$ 1.01	\$ 17,170.00	
20	X-107-4.1	MAINTENANCE AND PROTECTION OF AIRFIELD TRAFFIC	1	LS	\$ 5	55,000.00	\$ 55,000.00	\$ 342,198.43	\$ 342,198.43	\$ 246,473.47	\$ 246,473.47	
21	L-108-5.1	1-1/C No. 8 AWG 5KV, L-824C Cable in Conduit or Duct Bank, Installed Complete in Place	5,650	LF	\$	3.00	\$ 16,950.00	\$ 2.85	\$ 16,102.50	\$ 6.05	\$ 34,182.50	
22	L-108-5.2	1-1/C No. 6 AWG, Stranded Green Insulated Copper Safety Equipment Ground Wire in Conduit or Duct Bank, Installed Complete in Place	5,970	LF	\$	1.80	\$ 10,746.00	\$ 1.75	\$ 10,447.50	\$ 4.40	\$ 26,268.00	
23	L-108-5.3	1-1/C No. 6 AWG, Solid Bare Counterpoise Wire above Conduit or Duct Bank, Installed Complet	775	LF	\$	3.00	\$ 2,325.00	\$ 2.85	\$ 2,208.75	\$ 4.62	\$ 3,580.50	
24	L-108-5.4	1-1/C No. 6 AWG, Solid Bare Counterpoise Wire in Separate Trench for Taxiway Edge Lights, Installed Complete in Place	2,870	LF	\$	6.70	\$ 19,229.00	\$ 6.30	\$ 18,081.00	\$ 4.95	\$ 14,206.50	
25	L-108-5.5	1-1/C No. 6 AWG 600V Cable in Conduit or Duct Bank, Installed Complete in Place	1,500	LF	\$	3.00	\$ 4,500.00	\$ 2.85	\$ 4,275.00	\$ 4.40	\$ 6,600.00	
26	L-108-5.6	1-1/C No. 8 AWG 600V Cable in Conduit or Duct Bank, Installed Complete in Place	1,500	LF	\$	2.80	\$ 4,200.00	\$ 2.65	\$ 3,975.00	\$ 2.75	\$ 4,125.00	
27	L-110-5.1	Electrical Conduit, 2 Inch PVC Schedule 40, Conduit Encased in Non-Paved Areas Installed Complete in Place	3,645	LF	\$	10.00	\$ 36,450.00	\$ 9.50	\$ 34,627.50	\$ 83.62	\$ 304,794.90	
28	L-110-5.2	Electrical Duct Bank, 2 Inch PVC Schedule 40 Conduit Concrete Encased in Paved Area, Installed Complete in Place	50	LF	\$	24.00	\$ 1,200.00	\$ 23.00	\$ 1,150.00	\$ 209.06	\$ 10,453.00	
29	L-110-5.3	Electrical Duct Bank, 2-2 Inch PVC Schedule 40 Conduits in Paved Area, Concrete Encased, Installed Complete in Place	235	LF	\$	26.00	\$ 6,110.00	\$ 32.00	\$ 7,520.00	\$ 92.43	\$ 21,721.05	
30	L-115-5.1	Junction Box Plaza, Installed Complete In Place	3	EA	\$	5,500.00	\$ 16,500.00	\$ 5,145.00	\$ 15,435.00	\$ 4,511.35	\$ 13,534.05	
31	L-125-5.1	Elevated Taxiway Edge Light on L-867B Class 1A Light Base with Concrete Maintenance Pad in	18	EA	\$	3,300.00	\$ 59,400.00	\$ 3,150.00	\$ 56,700.00	\$ 4,346.30	\$ 78,233.40	
32	L-125-5.2	L-867B Class 1A Light Base with Concrete Maintenance Pad in Turf, Installed Complete in Place	11	EA	\$	2,900.00	\$ 31,900.00	\$ 2,730.00	\$ 30,030.00	\$ 2,310.69	\$ 25,417.59	
33	L-125-5.3	Install New Elevated Taxiway Edge Light Fixture on Existing Light Base, Installed Complete in Place	13	EA	\$	635.00	\$ 8,255.00	\$ 600.00	\$ 7,800.00	\$ 2,365.71	\$ 30,754.23	
34	L-125-5.4	Taxiway Retroreflective Edge Marker, Installed Complete in Place	10	EA	\$	11.00	\$ 110.00	\$ 445.00	\$ 4,450.00	\$ 440.13	\$ 4,401.30	
35	L-125-5.5	Elevated Runway Edge Light on L-867B Class 1A Light Base with Concrete Maintenance Pad in	1	EA	\$	7,200.00	\$ 7,200.00	\$ 6,800.00	\$ 6,800.00	\$ 4,511.35	\$ 4,511.35	
36	L-126-5.1	L-858(L) Guidance Sign on Foundation, Any Length, Installed Complete in Place	4	EA	\$	9,900.00	\$ 39,600.00	\$ 9,350.00	\$ 37,400.00	\$ 13,148.93	\$ 52,595.72	

37	L-126-5.2	L-858(L) Guidance Sign Panel on Existing Sign, Installed Complete in Place	9	EA	\$	1,600.00	\$ 14,400.00	\$ 1,475.00	\$ 13,275.00	\$ 5,611.68	\$ 50,505.12
38	L-128-4.1	Removal of Cable from Conduit	3,762	LF	\$	1.70	\$ 6,395.40	\$ 1.60	\$ 6,019.20	\$ 5.50	\$ 20,691.00
39	L-128-4.2	Removal of Elevated Edge Light Fixture and Light Base	27	EA	\$	280.00	\$ 7,560.00	\$ 265.00	\$ 7,155.00	\$ 1,430.43	\$ 38,621.61
40	L-128-4.3	Removal of Guidance Sign	4	EA	\$	890.00	\$ 3,560.00	\$ 840.00	\$ 3,360.00	\$ 1,980.59	\$ 7,922.36
41	L-128-4.5	Removal of ductbank or Conduit	2,409	LF	\$	4.50	\$ 10,840.50	\$ 4.25	\$ 10,238.25	\$ 30.81	\$ 74,221.29
42	L-128-4.6	Removal of Junction Box	6	EA	\$	335.00	\$ 2,010.00	\$ 315.00	\$ 1,890.00	\$ 1,089.33	\$ 6,535.98
43	L-128-4.7	Temporary Electrical Work	1	LS	\$ 2	23,000.00	\$ 23,000.00	\$ 23,100.00	\$ 23,100.00	\$ 71,521.37	\$ 71,521.37
	BID TOTAL			\$		978,660.90	\$	1,283,213.13	\$	2,315,053.17	